® -"arcintervals'

. - "arc.frame"

* -arc.play”

¢ (2)
-"arc.ntervals'

GET

http://example.com:[ port] /web2/secure/video/action.doversion=4.9.0.0& sessionid=29101F1& video_in=CAM :5& command=arc.intervals& time_from=2013-03-20T00:00:00.000+04:00& time_to=2013-03-22T23:59:59.999+04:
00& max_count=100& split_threshold=10399& |ogin=X XX & password=Y Y'Y

command=arc.intervals—
video_in— .

time_from —

time_to—
max_count —
split_threshold— ().,

format— , xml. json, JSON.

XML:



<?xm versi on="1. 0" encodi ng="UTF- 8" ?>
<records count="1" conpl et e="YES" sort="| NCREASE" >
<record>
<from>2011- 09- 01TOO: 00: 00- 05: 00</ f r onP
<t 0>2011- 09- 01T00: 00: 35- 05: 00</ t 0>
</record>
<record>
<from2011- 09- 01TOO: 00: 35- 05: 00</f r onP
<t 0>2011- 09- 01T00: 01: 10- 05: 00</ t 0>
</record>
</records>

JSON

{ 'count' : 1,
‘conplete' : 'YES,
"sort' : "I NCREASE',
‘caml : '1',
'records' : [ {

"from : '2019-01-22T12:41:10. 144+03: 00",
"to' @ '2019-01-23T08: 28: 47. 346+03: 00’

}

}
- "arc.frame"

GET

http://example.com:[ port] /web2/secure/video/action.do?version=4.9.0.0& sessionid=29101F1& video_in=CAM :5& command=arc.frame& time=2013-03-22T13:04:52.312+04:00& range=0.1& login=X X X & password=Y Y Y

command=arc.frame- ;
video_in- ;

time-, .

range- , time(, )
imageWidth- ( O, );
imageHeight- ( 0, );

fps- (O, ).



http-  [time- range, time + range] jpeg.

- "arc.play”
GET

http://example.com:[port] /web2/secure/video/action.do?version=4.9.0.0& sessionid=29101F1& video_in=CAM :5& command=arc.play&time_from=2013-03-22T13:04:52.312+04:00& time_t0=2013-03-22T13:16:31.873+04:
00&login=XXX&password=YYY

command=arc.play - ;
video_in- ;

time_from -

timeto- x(, )
imageWidth- ( 0, );
imageHeight- ( O, );

fps- (O, ).

newstate=closed errcode=100.

()
GET
http://example.com:[port]/web2/secure/archive/ CAM : 2/[2011-12-30|2011-12] ?[split T hr eshold=50] & [days=1]
splitThreshold — (), . , splitTreshold=0. [default: 50].

days- , , .[default: 1]

18 2013 , 2000:
http://example.com:[port]/web2/secure/archive/ CAM : 1/2013-10-18/?split Tr eshol d=2000

10, 18 2013:



http://example.com:[port]/web2/secure/archive/ CAM : 1/2013-10-18/?days=10

XML:

<?xm version="1.0" encodi ng="UTF- 16" ?>
<days>
<day>
<i d>2013-11-10T0O0: 00: 00- 02: 00</i d>
<records>
<fronm>2013-11- 10T18: 44: 01. 579- 02: 00</ fron>
<t 0>2013-11-10T18: 44: 09. 717- 02: 00</t 0>
</records>
</ day>
<day>
<i d>2013-11-18T00: 00: 00- 02: 00</i d>
<records>
<fronm>2013-11- 18T18: 38: 30. 252- 02: 00</ fron>
<t 0>2013-11-18T18: 38: 56. 942- 02: 00</ t 0>
</records>
<records>
<fron>2013-11- 18T18: 39: 08. 321- 02: 00</ fron>
<t 0>2013-11-18T18: 39: 10. 080- 02: 00</ t 0>
</records>
</ day>
</ days>

JSON:

{
"id": "2013-11-10T00: 00: 00. 000- 02: 00"
"records" :
"from' : "2013-11-10T18: 44: 01.579-02: 00"
"to": "2013-11-10T18: 44:09. 717-02: 00"
P

{
"id": "2013-11-18T00: 00: 00. 000- 02: 0O"
"records" :
“from : "2013-11-18T18: 38: 30. 252- 02: 00"
"to": "2013-11-18T18: 38:56.942-02: 00"

b

boA
“front : "2013-11-18T18: 39: 08. 321- 02: 00"

"to": "2013-11-18T18:39:10. 080-02: 00"

}
Hl

G o
http://example.com:[port]/web2/secure/archive/ CAM : 2/2011-12/

XML:



<?xm versi on="1. 0" encodi ng="UTF- 8" ?>
<days>
<day>
<i d>2011- 09- 02T00: 00: 00- 05: 00</ i d>
</ day>
<day>
<i d>2011- 09- 03T00: 00: 00- 05: 00</ i d>
</ day>
<day>
<i d>2011- 09- 05T00: 00: 00- 05: 00</ i d>
</ day>
</ days>

JSON:

{
"id": "2011-09-01T00: 00: 00- 0500"
"records" : [ ]

oA
"id": "2011-09-03T00: 00: 00- 0500"
"records" : [ ]

oA
"id": "2011-09-01T00: 00: 00- 0500"
"records" : [ ]

3]

XML:
<days/>

JSON:



	Работа с архивом

